Y . :i
----------------------- - ) ‘t —_—
 Series AB5CD/5! . - S
(R gz 32/ 5/ 1
AT ] r;i;&—n_'ef—f —s—m—:{—f;:; -a::l;;b% ge7 Tifrashl %
Roll No.  1pE-gg at e fad |
i ' Candidates must write the Q.P. Code

--l J. l _l J_ l__l___‘: :onthetitlepageoftheanswer-boolf.—_d
FYI T F A [ 57 FA-99 4 Jlad g5 25 + 1 1A & 1

e F A F T IA-TARITITAE |
ﬁwifa@#maﬁa%ﬁqwm-wmﬁvﬁwmgﬁw%

=--

JT-98 R ford | , :
FTAT 9T HT I TG Y& FA @ Vg, Iav-gieaat # T H FAE
HTYT o | v . -

59 ¥T-Y7 &) Ug7 & [0 15 FAe #7 95T 1297 T & | FT-9F HT AR
gale 4 10.15 & 3537 S1em | 10.15 &% & 10.30 T d% BIF HIT FH-97
H! 967 IR 57 A % N7 3 IH-YIHT W HIg IR 767 Ior@ |

Please check that this question paper contains 25 printed pages +1 Map.

Please check that this question paper contains 37 questions.

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please write down the serial number of the question in the answer-book

before attempting it. ; |
15 minute time has been allotted to read this question paper. The question

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.

oFo) AT fasm= -
PZ& SOCIAL SCIENCE 5.
S R

Fefa aag : 3 g%

Time allowed : 3 hours

Maximum Marpg : 80

Page 1 0f 27
P.T.o

12/5/1-15



General Instruct;,,,
S >

(i) This questi Caref;

Q Question pPaper — /l//A\' anc folle, ) .

o y, e 7 t
(i) uestion paper ; 17 quei .
N . . Sfr()”‘.
and F. dlvrd(’d into si pt ot Questiong
Six gopp; S are com
i6n3 pulsory.

(lil) Section A - Questions no S'r’('finn A, B 5 D E

. 3 1 t
question carries 1 mar. 0 20 q
ark. re Multip,

'.]’f)l(r
> f '
Ype questions. Each

Secti on B — Questions no. 21

(iv)
Each question carries 2 g, t;)\ “Aare Very g1
‘RS, nsw =LY ONort Anern
40 words er to these (/H('Rffrm:l ‘:;rr;v;);z questions
. . 5 shou »
(v) Sectwn C - QUC’SUOHS no. 25 to 30 ad not exceec
uestion carries 3 marks. A are Short Answe
q nswer to thes -(r type questions. Eacl
60 words. € questions she - Had
uld not exceed

(vi) Section D- Q,ueStions no. 30 to 33 are Long Answer (1
question carries 5 marks. Answer to these wer (LA) tspe questions. Each
>stitons  should not exceed

120 words.
Section E - Questions no. 34 to 36 are Case-based/Source-based questions

-questions. Each question carries 4 marks.

ion no. 87 is Map skill-based question with two parts -
(2 marks) and 37(b) from Geography (3 marks). This

(vit)
with three sub
(viii) Section F — Quest
37(a) from History
guestion carries total 5 marks.
In addition to this, NOTE ¢
Visually Impaired candidate
map etc. Such questions are to

hat a separate question has been provided for
s in lieu of questions having visual inputs,

ix)
be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)

. Who among the following hosted the Vienna Congress’ in 18157 I

(A) Chancellor Duke Metternich

(B) Ernst Renan

(C) WilliamI

(P) Otto von Bismarck

P.T.O.

5/1-15
f5/ Page 3 of 27




T e - —

2. Which one of the following religions o
. i h ‘Mero
spread in several directions throu erged f
routes’ ?

(A) Hinduism
(B)  Christianity
(C) Buddhism

(D) Jainism

3. Arrange the following events in chronological order and choose the
correct option.

I. Formation of Khilafat Committee in Bombay

II.  Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV.  Withdrawal of Non-Cooperation Movement
Options:

A LILII IV

(B) ILLIV,III

) LILIV,III

(D) HOLIV,ILI

4. Choose the correct option to fill in the blank.

In the beginning of the 19th century, __ a girl married in a very
orthodox household wrote an autobiography called ‘Amar Jiban’.

(A) Pandita Ramabai

(B) Rashsundari Devi

(C) Tarabai Shinde

(D) Kailashbashini Debi

50f27 P.T.O.
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5.  Match Column I with Column II and choose the correct option.

“Column 1 | Column I1
(National Park) (State)
il Kaziranga ‘ a. Madhya Pradesh
ii.  Jim Corbett b. Assam
ili. Sunderbans c. Uttarakhand
iv. Bandha\fgarh d. West Bengal -

Options:

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a

(@) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a:

6. In which one of the following states is ‘bamboo drip irrigation system’
prevalent ?
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha

7. Which one of the following is the highest ‘bauxite’ producing state of

India ?
(A). Maharashtra (B) Jharkhand
(¢) Gujarat - : (D) Odisha

8. Two stateinents, I and II ére given below. Read both the statements and

choose the correct option.

Statement I : Division of power is good for democratic systems.

Statement II - It helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(@) Statements I and Il are true and II is the correct explanation of I.

(D) Statements I and Il are true, but II is not the correct explanation of I.

32/5/1-15 Page 7 of 27 P.T.O.
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9-
rights in India.
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent;List _  Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
10. Read the following provisions regarding Secularism in the Indian

n and choose the correct option.

Constitutio

1. The Indian State has not adopted any religion as its official
religion.

II. The Constitution gives freedom to all the citizens to practice and
propagate any religion. 8

[II. The Constitution declares any kind of dis(:rimination done on the
basis of religion to be legal. ! '

IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious commumtles

Options: ;

(A) Only I, II and III are correct

(B) OnlyI, II and IV are correct

(C) Only I, III and IV are correct
(D) OnlylII, III and IV are correct.

11. ° Which  one of the followmg steps has been taken by the ‘Election

Commission of India to reform political parties ?

(A)
(B)

(C)
(D)

It has been m

Amended the Constitution to prevent defection.
Candidates will have to give the details of criminal cases on

affidavit.

Candidates will have to give details of their property on affidavit.
ade mandatory for all parties to conduct

organizational elections and file income tax returns.
Page 9 of 27 . : P.T.O.
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12. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. ;
Assertion (A) - Multi-party system has been adopted in India.
Reason (R) It is capable of accommodating all the social and
geographical differences in India.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
©) (A)istrue, but (R) is false.
D) (Ais false, but (R) is true.
13. Which one of the following is a sche‘duled language as Pper the
1

Constitution of India ?
(A) Bhojpurl

(B) Garhwali

(C) Nepali

(D) Rajasthani

14. Two statements, I and II are given below. Read both the statements and
1

choose the correct option.
ly contributing to various

Women are now active
professions including roles as doctors, engineers, lawyers,

managers and university teachers.

gender division and political
ole in public life.

Statement I :

Statement II : Political expression of
mobilization helped to improve women's T

Options :
(A) Statement Iis true, but 11 is false.

(B) Statement I is false, but II is true.

I and II are true and II is the correct ex
rrect explanation of L.

(€) Statements planation of L.

(D) Statements I and IT are true, but I is not the co

P.T.O

32/5/1-15 Page 11 of 27




AN

In one of the small villages, a farmer borrows money f l
rom the village

15.
moneylender at a high monthly interc
: : erest rat i
back. Next, he borrows it from a bank at a loew};‘ltr::, g 20l o repay 16
he earns and pays back the loan to the moneylender E;C(iqtﬂrm‘“ trradually
. : “a e e e
Whlch. of the following best describes the role of the b ') "
situation ? ’ e bank in thi credit
(A) The bank acts as a cooperative 1
S rative lender. 1
(B) The bank facilitates a debt-trap situarti(m
(C) The bank ensures a fair exchange of gl()()(].q
() The bank saves the farmer from debt,-tra[‘).
16. Look at the given picture. The work being done in the picture comes

under which one of the following economic sectors ?
EITR 17 T WOTH | Gl < d

.“f

_ (B) Secondary
(C) Tertiary (D) Quaternary

Note: The following question is for the Visually Impaired Candidates only

in lieu of @. No. 16.
Floriculture’ comes under which one of the following sectors of the

(A) Primary

economy ?
(A) Primary (B) Secondary
(D) Quaternary

(C) Tertiary
1. Two statements are given below. They are Assertion (A) and Reason (R).
1

Read both the statements and choose the correct option.
Assertion (A) : Rural poor families are still depen

sources of credit.
For obtaining loan from banks, collateral and special

dent on informal

Reason (R)
documents are required.
Options : .
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
t explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correc

(C)  (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.
P.T.O.
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? Which o
| 18. ne of the following is mcluded in hb li
eraliz

ation’ ?
(A) Promoting trade barriers .. jon” ;

i

(B) Removing trade barriers

@) . Controlling the other country through trad
A rade

(D) Increasing import, export duty on good
\ roods

19. Which one of the following sectors i ‘ '
in India ? , has the highest share in employment
. 1

(X) Primary
(B) Secondary
(C) Tertiary

(D) Quaternary

the formal sources of credit from the given sources and choose the
1

~ Select
- correct option.

I.  Bank

. Moneylender
III. Cooperatives
IV. Businessman
Options :

(4) OnlyTandII
(B) OnlyIl and 111
() OnlyIandIIl
(D) OnlyIandIV

5/1-15 - poge 12912
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8 Which one of the following is included ip “libera]
ra

. 1Zation’ 9
(A) Promoting trade barriers g

(B) Removing trade barriers
(@) . Controlling the other country through trade ;

(D) Increasing import, export duty on goods

19. Which one of the following sectors has the highest share in employment

in India ? 1
(X) Primary.
(B) Secondary
(C) Tertiary
(D) Quaternary
20. Select 4the formal sources of credit from the given sources and choose the
- correct option. . 1

I  Bank

II. Moneylender
III.  Cooperatives
IV. Businessman
Options: |

(A)  OnlyIandII
(B) Only IT and III
(C) OnlyIandIII
(D) Only Iand IV

S 15 of 27 .
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SECTION B
(Very Short Answer Type Questions)

/Why was the Indian subcontinent central to the f
network before the sixteenth century ? Explain g

l!-/ @) «Minerals occur in igneous and metamorphic rocks.” Expla;
statement with example. gt “Xplaimn the

bo

OR

() “The ocean waters contain vast quantities ‘of minerals.” Explain
the statement with example. G 9

;s,/Why was the need for decentralisation recognized in the Indian
Constitution ? Explain. : , o

¢ How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
SECTION C , |
(Short Answer Type Questions) (5x3=15)
3,5-/ (a) Explam the role of womeﬁ in the Civil Disobedience Movement,
with examples. \ ' 3
; OR
) How did the Indian folklore and symbols strengthen the idea of
| nationalism during the twentieth century ? Explain with
examples. » 3
8 Describe any three impacts of globélisation on Indian agTiculltAure. 3
¥, Analyse any three challenges faced by political parties in India. 3
| 3

the Indian federal system.

& Describe any three characteristics of

o] Why has the issue of sustainability become essential for development in
y has . .
present times ? Explain with example.
snas | page 17 of 27 o)
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SECTION D
(Long Answer Type Questions)
30 (4x5=20)
. (a) Evaluate the role of Giuseppe Mazzini in the unificati
; Ttalian Republic. + unification of the
OR d
(b) g:aluate the role of Otto von Bismarck in the unification of
rmany. :
3 (a) “Manufacturing sector is considered the backbone of development
of the country.” Justify the statement. 5
OR
()  “Agriculture and Industry move hand in hand.” Justify the
statement. ! 5
32./ (a) Explain with examples the role of democracy in the reduction of
inequality and poverty. 5
OR
) How is democracy a legitimate government 9 Explain with
examples. 5
38( (@) Explain the differences between public and private sector of
economic activities. 5
OR
) Explain the differences between the organised and unorganised
sector of economic activities. 5
SECTION E
(Case-Based/Source-Based Questions) (3x4=12)
3;4./ Read the given source and answer the questions that follow :
Print Comes to India
From 1780, James Augustus Hickey began to edit the Bengal Gazette,
a weekly magazine that described itself as ‘a commercial paper open to
all, but influenced by none’. So it was private English enterprise, proud of
its independence from colonial influence, that began English printing in
page 19 of 27 P.T.0.




H g
India. Hickey published g lot of advertice ments, including (ROSAREEE
related to the import and sale of slaves. But he | a

also published a lot of
gossip about the Comp : p7iihs A5 (1)

any’s senior officials in India.
Governor-General Warren Hastings persecuted Hickey

T 'y, and encouf®
the publication of officially sanctioned newsp 7

Fnraged ¥

. . apers that could counter the
flow of information that damaged the image of the colonial government
By the close of the eighteenth century, a number of newspapers and

journals appeared in print. There, were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(34.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? K 1

(34.2) Why was James Augustus Hickey persecuted ? 1

(34.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? L 1+1=2

g./Read the given source and answer the questions that follow :
Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Commeon Future. Another significant contribution was made at the Earth

Summit at Rio de Janeiro, Brazil in 1992.

(35.1) Explain the meaning of sustainable development. 1
(35.2) In which international conference was ‘Agenda-21’ accepted ? 1
(35.3) Explaln any two outcomes of the Summit. ox1=2

P.T.O.
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. at follow :
oans from Cooperatives

Besides banks, the other major source of ch
e

cooperative societi : ap credit in rural ar
are the . p Societies (or Cooperatives). Members of - ?as
5| their resources for cooper . *I's ol a cooperative

avion in certa;
. ain ar("]% ’]‘h “wro
cooper : ; el €re are several
es of cooperatives possible such as farmers cooperatives weav
ratives, ers

operatives, mndustrial workers cooperatives, ofc Krishak C :

functions i a village not very far away from Sonpl; r. Tt lh,;q 99 (;)(;) If)‘eratlve
qs members. It accepts deposits from itg members. With thcsc de : I:Itners
collateral, the Cooperative has obtained a large loan from t}ﬁe sl;:nis

These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to
their members ? | |

- (36.2) What are the different types of loans that ‘Krishak Cooperatives’

offer to their members ?

~ (36.3) Why are such cooperatives desirable in the rural areas ?

32/5/1_15 Page 23 of 27

SECTIONF
(Map Skill-Based Question) (2+3=5)

(@) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the

lines drawn near them : -
A The place where the session of Indian National Congress

was held in 1920. . 7
B. The place where Gandhiji broke the salt law. | 7
®) Op the same political outline map of India, locate and label ;n;rzg
three of the following with suitable symbols : X
(&  Bailadila — Iron ore Miqes
(ii) Namrup — Therrgal I;c:)\:'/:r Plant
— Major Sea
' E:l?)/ Il\izléil;m Balgkam _ International Airport -




The following questions are for the Visually Impaired Candidates
only, i lieu of Q. No. 37.

Attempt @Y five questions. Hx1=5

(87.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.
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